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Direction (1-4): Study the following arragnement carefully and
answer the questions given below.

funsZ'k (1-4): fuEufyf[kr O;oLFkk dk è;kuiwoZd vè;;u dhft, rFkk uhps
fn;s x;s iz'uksa ds mÙkj nhft,A
P % R I 5 H * M T E 3 B $ V N 4 K A 8 W I 6 2 G # U H 7 •
J Q 9 L Y

1. How many such vowels are there in the above
arrangement each of which is immediately preceded by a
consonant and immediately followed by a number?

mQij nh xbZ O;oLFkk esa ,sls fdrus Loj gS ftuds rqjar igys O;atu rFkk
rqjar ckn la[;k gS\
(a) None (b) One

(c) Two (d) Three

(e) Four

2. How many such consonants are there in the above
arrangement each of which is immediately preceded by
a symbol and immediately followed by a consonant?

mQij nh xbZ O;oLFkk esa ,sls O;atu gS ftuds rqjUr igys ,d izrhd rFkk
rqjUr ckn esa ,d O;atu gSA
(a) None

(b) One (c) Two

(d) Three (e) Four

3. What should come in place of the question mark (?) in
the following series based on the above arrangement?

mQij nh xbZ O;oLFkk ds vuqlkj iz'uokpd fpUg ds LFkku ij D;k gksxk\
5 * T 3 $ N K 8 I ? • Q L

(a) 2#H (b) GHJ

(c) 5GH (d) HJ9

(e) None of these

4. Which of the following is the seventh to the right of the
twentieth from the right in the above arrangement?

mQij nh xbZ O;oLFkk esa nk¡;s Nksj ls chlosa ds nk¡;s ls lkrosa LFkku ij fLFkr
rRo dkSu&lk gS\
(a) 2 (b) I

(c) G (d) 6

(e)  None of these

Direction (5-8): Use the following series of elements

(alpha-number-symbol) to answer these questions. Every two-
digit number (given in brackets) is to be treated as single
number.

funsZ'k (5-8): fuEufyf[kr Js.kh ds rRoksa (o.kZekyk&la[;k&ladsr) dk
iz;ksx djds fn;s x;s iz'uksa ds mÙkj nhft,A izR;sd nks vadksa dh la[;k (tks
dks"Bd esa fy[kh gS) dks ,d gh rRo ekuk tkrk gSA
2 * 8 5 6 B 9 $ Q 3 E 1 7 R D 4 £ (13) U • K (18) A (14) P

5. Four of the following five groups of elements are alike in
a certain way and so form a group. Which is the one the
does not belong to thet group?

fuEufyf[kr ik¡p esa ls pkj rRoksa ds lewg ,d fuf'pr rjhds ls leku gS
rFkk ,d lewg cukrs gSA buesa ls dkSu&lk bl lewg ls lacaf/r ugha gSA

ALPHA NUMERIC

SYMBOL SERIES

(a) 2*8 (b) 56B

(c)  Q$9 (d) 13E

(e)  DR7

6. If each alphabet has a value of zero, each symbol (i.e., *, $
and •) has a value equivalent to the square of the numeral
that immediately precedes the symbol or the value of 1
if it is not immediately preceded by a numeral, what will
be the sum of the values of the first 10 elements of the
series starting from the left end?

;fn izR;sd v{k dk eku 'kwU;] izR;sd ladsr (tSls *, $ vkSj •) dk ekus
muds igys vkus okys vad dk oxZ] rFkk ;fn muds igys vad u rks mldk
eku 1 gS rc ck¡;s Nksj ls igys 10 rRoksa dk ;ksx fdruk gksxk\
(a) 118 (b) 46

(c) 79 (d) 107

(e)  None of these

7. If each of the letters in the above series of elements is
given a value equivalent to its serial number in the
English alphabet, what will be the difference, between
the sum of the consonants and the sum of the vowels
used in the series?

;fn mQij nh x;h Js.kh esa iz;qZDr o.kZekyk ds izR;sd v{kj dks o.kZekyk
esa muds LFkku ds vuqlkj ,d la[;k ns nh tk;s rks Js.kh esa iz;qDr lHkh
Loj ds ;ksx rFkk lHkh O;atuksa ds ;ksx dk varj D;k gksxk\
(a) 109 (b) 41

(c) 82 (d) 27

(e) None of these

8. Which of the following groups of elements will come in
the place of the question mark in the scries of elements
given below?

uhps nh xbZ rRoksa dh Js.kh esa iz'uokpd fpUg ds LFkku ij rRoksa dks dkSu&lk
lewg vk;sxk\
682 $B5 EQ9 ? £D7

(a) •(13)4 (b) 4(13)o

(c) U£D (d) •(13)£

(e) None of these

Direction (9-11): Study the following elements (letters,
digits and symbols sequence) to answer the questions given
below:

funsZ'k (9-11): fuEufyf[kr Js.kh ds rRoksa (o.kZ] la[;k rFkk ladsr) dk
vè;;u djds uhps fn;s iz'uksa ds mÙkj nhft,%
A B 7 C D 9 Z Y * P 2 M O K S 3 5 N T @

9. If each symbol of the above sequcence is replaced with
a letter and each digit is replaced with a new symbol,
then how many letters will be there in the sequence?

;fn mijksÙkQ vuqØe ds çR;sd çrhd dks ,d v{kj ls cny fn;k tk,
vkSj çR;sd vad dks ,d u, çrhd ls cny fn;k tk,] rks vuqØe esa
fdrus v{kj gksaxs\
(a) 16 (b) 17

(c)  4 (d) 12

(e)  None of these
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10. How many such digits are there in the sequence each of

which is immediately preceded as well as followed by

letters?

vuqØe esa ,sls fdrus vad gSa ftuds Bhd igys vkSj Bhd ckn esa v{kj
gSa\
(d) Three (b) One

(c)  Two (e) None of these

11. Which of the following letters is cxactly midway between

the letters falling between 'C' and '5'?

fuEufyf•r esa ls dkSu lk v{kj 'C' vkSj '5' ds chp vkus okys v{kjksa
ds Bhd chp esa gS\
(a) Y (b) K

(c)  P (d) M

(e)  None of these

Direction (12-15): Study the following arrangement care-

fully and answer the questions given below:

funZs'k (12-15): fuEufyf•r O;oLFkk dk è;kuiwoZd vè;;u djsa vkSj
uhps fn, x, ç'uksa ds mÙkj nsa%
P 1 % T R A 5 # D M 7 K * E G 2 8 $ H 3 I 4 V U 6 F • 9 Z

12. How many such symbols are there in the above

arrangement, each of which is immediately preceded by

a consonant and also immediately followed by a

consonant?

mijksÙkQ O;oLFkk esa ,sls fdrus çrhd gSa] ftuesa ls çR;sd ds Bhd igys
,d O;atu gS vkSj Bhd ckn Hkh ,d O;atu gS\
(a) None (b) One

(c) Two (d) Three

(e) More than three

13. Four of the following five are alike in a certain way based

on their position in the above arrangement. Which is

the one that does not belong to that group?

mijksÙkQ O;oLFkk esa viuh fLFkfr ds vkèkkj ij fuEufyf•r ikap esa ls pkj
,d fuf'pr rjhds ls leku gSaA og dkSu lk gS tks ml lewg ls lacafèkr
ugha gS\
(a) VIF (b) EK8

(c)  R%# (d) 6V9

(e)  $G3

14. Which of the following is exactly in the middle between

the fifth element from the left end and the seventh

element from the right end?

fuEufyf•r esa ls dkSu lk ck,a Nksj ls ikaposa rRo vkSj nk,a Nksj ls lkrosa
rRo ds Bhd chp esa gS\
(a) G (b) 2

(c)  E (d) *

(e)  None of these

15. If the positions of the last twelve elements in the above

arrange-ment are reversed, which of the following will

be the eighth element to the right of the eleventh clement

from the left?

;fn mijksÙkQ O;oLFkk esa vafre ckjg rRoksa dh fLFkfr myV nh tkrh gS] rks
ck,a ls X;kjgosa DysesaV ds nkbZa vksj fuEufyf•r esa ls dkSu lk vkBoka rRo
gksxk\
(a) H (b) I

(c)  • (d) 9

(e)  None of these

Direction (16-19): Study the following sequence carefully
and answer the questions given below:

funZs'k (16-19): fuEufyf•r vuqØe dk è;kuiwoZd vè;;u djsa vkSj
uhps fn, x, ç'uksa ds mÙkj nsa%
M E 5 P B 2 A 7 K N 9 T R U 4 6 I J D F l Q 3 W 8 V I S Z

16. If the order of the first twenty letters/numbers in the
above sequence is reversed and the remaining letters/
numbers are kept unchanged, which of the following
will be the fourteenth letter/number from the right end
after the rearrangement?

;fn mijksÙkQ vuqØe esa igys chl v{kjksa@ la[;kvksa dk Øe myV fn;k tk,
vkSj 'ks"k v{kjksa@la[;kvksa dks vifjofrZr j•k tk,] rks iquO;ZoLFkk ds ckn
fuEufyf•r esa ls dkSu lk nk,¡ Nksj ls pkSngok¡ v{kj@la[;k gksxh\
(a) B (b) 6

(c) 2 (d) 1

(e)  None of these/buesa ls dksbZ ugh

17. Which of the following letter/number is the eighth to
the left of the nineteenth letter/number from the left
end?

fuEufyf•r esa ls dkSu lk v{kj@la[;k ck;sa Nksj ls mUuhlosa v{kj@la[;k
ds ck;ha vksj vkBoka gS\
(a) N (b) T

(c)  I (d) D

(e)  None of these

18. Four of the following five are alike in a certain way with
regard to their position in the above sequence and so
form a group. Which is the one that does not belong to
that group?

mijksÙkQ vuqØe esa viuh fLFkfr ds laca/ esa fuEufyf•r ikap esa ls pkj
,d fuf'pr rjhds ls leku gSa vkSj blfy, ,d lewg cukrs gSaA og dkSu
lk gS tks ml lewg ls lacaf/r ugha gS\
(a) WIQ (b) PAE

(c)  NR7 (d) 4JR

(e) D16

19. How many such vowels are there in the above sequence,
each of which is immediately preceded by a consonant
and immediately followed by a vowel?

mijksÙkQ vuqØe esa ,sls fdrus Loj gSa] ftuesa ls çR;sd ds Bhd igys ,d
O;atu vkSj Bhd ckn ,d Loj gS\
(a) None (b) One

(c) Two (d) Three

(e) More than three

Direction (20-23) : Study the following arrangement
carefully and answer the questions given below:

funsZ'k (20-23) : fuEufyf[kr Js.kh ds rRoksa (o.kZ] la[;k rFkk ladsr)
dk vè;;u djds uhps fn;s iz'uksa ds mÙkj nhft,%
J 1 # P 4 E K 3 A D $ R U M 9 N 5 I % T V * H 2 ÷ F 6 G 8
Q W

20. How many such numbers are there in the above
arrangement, which is either immediately preceded by
or immediately followed by a vowel or both?

mijksÙkQ O;oLFkk esa ,slh fdruh la[;k,¡ gSa] ftuds Bhd igys ;k Bhd ckn
,d Loj ;k nksuksa gSa\
(a) None (b) One

(c) Two (d) Three

(e) More than three
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21. Which or the following is exactly in the middle between

the tenth from the left and the eighth from the right end

in the above arrangement?

mijksÙkQ O;oLFkk esa ck,a Nksj ls nlosa vkSj nk,a Nksj ls vkBosa ds Bhd chp
esa dkSu lk ;k fuEufyf•r gS\
(a) M (b) N

(c) 1 (d) 5

(d) None of these/buesa ls dksbZ ugh

22. If the order of the last fifteen elements in the above

arrange-ment is reversed, which of the following will be

the ninth to the right of the eleventh element from the

left end?

;fn mijksÙkQ O;oLFkk esa vafre iaæg rRoksa dk Øe myV fn;k tk,] rks
fuEufyf•r esa ls dkSu lk ck,a Nksj ls X;kjgosa rRo ds nkbZa vksj ls ukSoka
gksxk\
(a) G (b) %

(c)  8 (d) 3

(e)  None of these

23. How many such consonants are there in the above

arrangement, each of which is immediately preceded by

a symbol but not immediately followed by either a

number or a vowel?

mijksÙkQ O;oLFkk esa ,sls fdrus O;atu gSa] ftuesa ls çR;sd ds Bhd igys ,d
çrhd gS ysfdu Bhd ckn dksbZ la[;k ;k Loj ugha gS\
(a) None (b) One

(c) Two (d) Three

(e) More than three

Direction (24-28) : Study the following arrangement

carefully and answer the questions given below:

funsZ'k (24-28) : fuEufyf[kr Js.kh ds rRoksa (o.kZ] la[;k rFkk ladsr)
dk vè;;u djds uhps fn;s iz'uksa ds mÙkj nhft,%
M £ 5 T R E 3 $ P J 1 7 D I 2 N A 4 F H 6 * U 9 # V B @ W

24. If the positions of the first fourteen characters of the

above arrangement arc reversed, which of the following

will be the twenty-second from the right end?

;fn mijksÙkQ O;oLFkk ds igys pkSng o.kks± dh fLFkfr myV nh tk,] rks
fuEufyf•r esa ls dkSu nk,¡ Nksj ls ckbZlok¡ gksxk\
(a) J (b) I

(c)  P (d) 3

(e)  None of these

25. How many such numbers are there in the above

arrangement, each of which is immediately preceded by

a vowel and immediately followed by a consonant?

mijksÙkQ O;oLFkk esa ,slh fdruh la[;k,¡ gSa] ftuesa ls çR;sd ds Bhd igys
,d Loj vkSj Bhd ckn ,d O;atu gS\

(a) None (b) One

(c) Two (d) Three

(e) More than three

26. What should come in place of the question mark (?) in
the series given below based on the above arrangement?

mijksÙkQ O;oLFkk ds vk/kj ij uhps nh xbZ Ükà•yk esa ç'u fpÉ (\) ds
LFkku ij D;k vkuk pkfg,\
R 3 £ P 1 E ? A F I

(a) DNJ (b) D2I

(c)  INI (d) N4D

(e)  None of these

27. How many such consonants are there in the above
arrangement each of which is immediately preceded by
a symbol but not immediately followed by a number?

mijksÙkQ O;oLFkk esa ,sls fdrus O;atu gSa ftuds Bhd igys ,d çrhd gS
ysfdu Bhd ckn dksbZ la[;k ugha gS\
(a) None (b) One
(c) Two (d) Three
(e) More than three

28. Which of the following is the fifth towards right of the
seventeenth from the right end?

fuEufyf•r esa ls nk,¡ Nksj ls l=kgosa ds nk,¡ vksj ik¡pok¡ dkSu lk gS\
(a) $ (b) 4

(c)  7 (d) A

(e)  None of these

Direction (29-30): Study the following arrangement
carefully and answer the questions given below:

funsZ'k (29-30): fuEufyf[kr Js.kh ds rRoksa (o.kZ] la[;k rFkk ladsr) dk
vè;;u djds uhps fn;s iz'uksa ds mÙkj nhft,%
B A 5 D % 5 R I X H 6 # V 9 $ 3 E 7 G 1 ÷ 2 M K X B U F W
Z N

29. Which of the following is exactly in the middle of the
eleventh element from the left end and the fifteenth
element from the right end?

fuEufyf•r esa ls dkSu lk ck,a Nksj ls X;kjgosa rRo vkSj nk,a Nksj ls iaægosa
rRo ds Bhd eè; esa gS\
(a) V (b) $

(c)  7 (d) E

(e)  None of these

30. How many such numbers are there in the above

arrangement each of which is immediately preceded by

a consonant and not immediately followed by a symbol?

mijksÙkQ O;oLFkk esa ,slh fdruh la[;k,¡ gSa ftuds Bhd igys ,d O;atu
gS vkSj Bhd ckn dksbZ çrhd ugha gS\
(a) None (b) One

(c) Two (d) Three

(e) More than three

Answer-Key

1. (e) 2. (d) 3. (a) 4. (d) 5. (d) 6. (a) 7. (b) 8. (e) 9. (a) 10. (d)

11. (e) 12. (a) 13. (e) 14. (c) 15. (d) 16. (a) 17. (e) 18. (e) 19. (a) 20. (d)

21. (d) 22. (a) 23. (b) 24. (d) 25. (c) 36. (e) 27. (c) 28. (b) 29. (e) 30. (a)
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1. (e) Four

P % R I 5 H * M T E 3 B $ V N 4 K A 8 W I 6 2 G # U H 7 • J Q 9 L Y

2. (d) Three

P % R I 5 H * M T E 3 B $ V N 4 K A 8 W I 6 2 G # U H 7 • J Q 9 L Y

3. (a) 2#H

P % R I 5 H * M T E 3 B $ V N 4 K A 8 W I 6 2 G # U H 7 • J Q 9 L Y

4. (d) 6

Right
20

 – Right
7
 = Right

13

P % R I 5 H * M T E 3 B $ V N 4 K A 8 W I 6 2 G # U H 7 • J Q 9 L Y

5. (d) 13E

2 * 8 5 6 B 9 $ Q 3 E 1 7 R D 4 £ (13) U • K (18) A (14) P

Option 'd' dks NksM+dj lHkh option ds element ;k rks vkxs
ls ;k ihNs ls start djds fy[kk x;k gSA

6. (a) 118

After applying given condtion:-

2  5 6  9   3 1 7  4  (13)  (18)  (14) 4 8 0 81 0  0 0 0 16 1 0 0 0

Left ls 10 element dk sum.

 2 + 4 + 8 + 5 + 6 + 0 + 9 + 81 + 0 + 3 = 118

7. (b) 41

Sum of Consonants Sum of Vowels 

B Q R D K P

2+17+18+4+11+16 = 68

E U A

5+21+ 1 = 27

Diff. = 68 – 27 = 41

8. (e) R13

2 * 8 5 6 B 9 $ Q 3 E 1 7 R D 4 £ (13) U • K (18) A (14) P

9. (a) 16

According to given series:-

A B 7 C D 9 Z Y * P 2 M O K S 3 5 N T @

Series esa dqy 3 symbol (* @) ftudks ge 3 letters ls
replace dj nsxsaA
 Series esa igys ls 13 letter fn;s x, gSaA
vr% dqy = 13 + 3 = 16 letter gksxsaA

10. (d) Three

A B 7 C D 9 Z Y * P 2 M O K S 3 5 N T @

11. (e) 2

A B 7 C D 9 Z Y * P 2 M O K S 3 5 N T @ 

12. (a) None

P 1 % T R A 5 # D M 7 K * E G 2 8 $ H 3 I 4 V U 6 F • 9 Z

13. (e) $G3

(a) VIF   I    4VU6F

(b) EK8  K*EG28    

(c) R%#  %TRA5#

(d) 6VN  VU6F•9    

(e) $G3  G28$H3    

Note: bl iz'u esa ,d common element ls vkxs ds rhljs
element dks ,oa ihNs ds nwljs element dks feykdj ,d
series follow gks jgh gSA tks fd option 'e' esa ugha gSA

14. (c) E

15. (d) 9

P 1 % T R A 5 # D M 7 K * E G 2 8 / Z 9 • F 6 U V 4 I 3 H $     

Left
11

 + Right
8
 = Left

19
  9

16. (a) B

FDJI64URT9NK7A2 B P5EM/ l Q 3 W 8 V I S Z

Right ls 14th  B

17. (e) 9

M E 5 P B 2 A 7 K N 9  T R U 4 6 I J D F l Q 3 W 8 V I S Z

Left
19

 – left
8
 = left

11

18. (e) D16

(a) WIQ      Q3W8VI

(b) PAE  E5PB2A   

(c) NR7  7KN9TR

(d) 4JR  RU46IJ     

(e) D16  6IJDF1 Q     

Note: bl iz'u esa ,d common element ls vkxs ds rhljs
element dks ,oa ihNs ds nwljs element dks feykdj ,d
series follow gks jgh gSA tks fd option 'e' eas ugha gSA

19. (a) None

M E 5 P B 2 A 7 K N 9 T R U 4 6 I J D F l Q 3 W 8 V I S Z

20. (d) Three

J 1 # P 4 E K 3 A D $ R U M 9 N 5 I % T V * H 2 ÷ F 6 G 8 Q W

21. (d) 5

J 1 # P 4 E K 3 A D $ R U M 9 N 5 I % T V * H 2 ÷ F 6 G 8 Q W

22. (a) G

J 1 # P 4 E K 3 A D $ R U M 9 N/WQ8 G 6F÷2H*VT%I5

After Rearrangement:-

Left
11

 + Right
9
 = Left

20th
 = G

23. (b) One

J 1 # P 4 E K 3 A D $ R U M 9 N 5 I % T V * H 2 ÷ F 6 G 8 Q W

24. (d) 3

I D 7 1 J P $ 3  E R T 5  $ M/ 2 N A 4 F H 6 * U 9 # V B @ W

Right 22th  3

25. (c) Two

M £ 5 T R E 3 $ P J 1 7 D I 2 N A 4 F H 6 * U 9 # V B @ W

Answer With Explanation
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26. (e) None of these

M £ 5 T R E 3 $ P J 1 7 D I 2 N A 4 F H 6 * U 9 # V B @ W

Series ds according gekjk Answer D2J gS tks fd

option esa ugha fn;k x;k gSA
27. (c) Two

M £ 5 T R E 3 $ P J 1 7 D I 2 N A 4 F H 6 * U 9 # V B @ W

28. (b) 4

M £ 5 T R E 3 $ P J 1 7 D I 2 N A 4  F H 6 * U 9 # V B @ W

Right
17

 – Right
5
 = Right

12
  4

29. (e) None of these

B A 5 D % 5 R I X H 6 # V 9 $ 3 E 7 G 1 ÷ 2 M K X B U F W Z N

30. (a) None

B A 5 D % 5 R I X H 6 # V 9 $ 3 E 7 G 1 ÷ 2 M K X B U F W Z N


